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2N 2R8AL
M X A2HIARAIY (H2A/2AHAR)
CHol: BAA EAX L SABL (crsl: &2

SA - EH . S(E) - NEAY - B O &b o e HR=Z
-Ho XA +58 2,650
cEAHA 13,000& =150 m* 1,950
CEAHAR A 100, 000& *7IH A 700

-SEYIEL 222 (EAHL BHIL)

2,000,000& *12 2,000
-SZJIHEEE =2 100,000& «12& 1,200
-HLUAREHY a2 1,500,000 * 13 1,500

40,000% *200H 2+ 123 9,600
-HiE A A (BAL) 1,800,000& 1] 1,800
“HAEE EEEB 1,000,000& x12& 12,000
02 3323l 54,745 47,795 6,950
O1.332=<HA 21,200
—SAIJEA 1,500,000 122 18,000
“SAJIANE SRR E 200,000 200
-A=setdEe| SHMEE= 3,000,000& 3,000
O2.9=H| 14,660
-22d 1,185 *95 L #BAI 2tx1.7 £ »7JH & 10,718
=3I 1,185 «952 %3 ¢ «7CH 2,365
-SSR () 1,185 952 #2 { »7LH 1,577
O3. A& &dls X 18,885
-EHEEANAE FAE 4|
700,000 128 8,400
~&AD1J] RAE 1,500,000& 1,500
prat—Eo NNl 8,985
TEAA 2,086& %3,443m +0.8 5,746
SANN(MZ, Set)
4 1743 «416m %0.8 1,390
CEAXN (SN, Hok, IH IS, FE)
1,118&+2,067m 0.8 1,849
206 M=Hl 1,290 355 935
01 M=ZHl 1,290 355 935
OXZ+== oHSLH M7 650
-&EH 5,000 10 x53] 250




2N 2REAA
M N ALA B (R2A/22AR)
Tl HAA BAXA 2B (crel @

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
&2 Kl 8,000& 10 %53 400
Ox&d+== ¢ SJME HE+E
8,000 40 »23] 640
401 AIEHIZL =0 43,000 22,000 21,000
01 Al&HI 43,000 22,000 21,000
OS24 HOIZE MBI 23
13,000,000& 14 13,000
OEAA JIBAIE X &€ E=
20,000,000& *14] 20,000
OJIHEAXN & SHEA BHLES
2,000, 000& * 14! 2,000
OsaiEHRL BXEE B
3,000, 000& »14] 3,000
OSE2N A S8 2+ & UEL
g &1 2,000,000 » 14! 2,000
Osct224 XA sHEA 22 2
3,000,000& * 14! 3,000
405 KHeHHE SHI 11,833 11,800 33
01 XA ESESH=HI 11,833 11,800 33
OZAE S| 2 700,000 = 1CH 700
OsAME2s 2¢ 200,000& 204 4,000
oxtzcE w2 500,000 =1CH 500
OaAMEHIZ A A= 6,633
ooz 2 2,133,000 = 1CH 2,133
- A CIMA 2,000,000& = 1CH 2,000
-0l A O TH(3+H121E) 1,000,000& 1= 1,000
-APS A BA 2 ok} 500,000& 12 500
-2 E % 3H NEE 1,000,000 1= 1,000
SHEASHMUIA HEAISE (BEX) 374,666 169, 183 205,483
= 248,327
Al 126,339
401 AIEHIZ SO 374,666 169, 183 205,483
= 248,327
Al 126,339
01 Al&HI 374,666 165,901 208,765
OE2AL & - ZFEEM 374,666,000& *14] 374,666




SN =2REAL
Ha: NEAOB AL (BH/2HAR)

el 2L BANL 2L (9l &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
2 248,327
Al 126,339
ol Al X 232,000 216,000 16,000
= 16,800
= 36,400
Al 178,800
M= X2 162,000 146,000 16,000
307 QIZ2+tol A 162,000 146,000 16,000
01 =L R = H| 162,000 146,000 16,000
OBHXNA MZo2tEF 2 162,000
-2t (Al SeHEELIIE)
34,000,000& x4l A~ 136,000
XIDHAIR, B, e 00 B )
2,000,000& *5JH 2~ 10,000
-stet(Eal, 215,014, 5 %)
2,000,000& *4JH 2~ 8,000
XL E(EL B AKX 19F)
100, 000& 205 x4 3| 8,000
22H2H92 )| BAAMHP(EX) 70,000 70,000 0
== 16,800
= 36,400
Al 16,800
403 XXISHHSA20|H 70,000 70,000 0
== 16,800
= 36,400
Al 16,800
02 ZJ/2SOCHSCHEEAFSHI 70,000 70,000 0
OZZEAYRII BAANLX
70,000,000 *1JH A 70,000
== 16,800
= 36,400
Al 16,800
olefate| 60,491 5,430 55,061
oty 29 60,491 5,430 55,061
101 Q14 d| 13,091 0 13,091
10 JIZHZ2XNEES 13,091 0 13,091
O RIS HH(HESHE ) 13,091




SN 2REAL
HMH: NAPARAR (22 /BAAR)
SH9l: o| o2t (9l & 2

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
-1 47,8403 x 1 #250 11,960
-AHEE JI22E3 11,960,000 +9.45% 1,131
201 LEr23H] 16,808 2,550 14,258
01 AtR2teld 9,308 2,550 6,758
O1.28t=2H| 8,300
DIRER DS L 222 R0
500& *2,00001 »23] 2,000
-920|& AHZEZA SR ROl
2003 55 +1,0000H 1,000
-SRI FHH 2tel2Z | 1,000,000& 1,000
-OIRIIEMH S MH 500,000& 500
—RINIER 27 MOHF 4,000 150K 600

2,000,0008! 2,000
-R0IAYIBY 48 10,0002 * 122 1,200
O5.2 2| 1,008
—olotiA NEEE ORAI2LX B4
7,0002! %32 x62 +83] 1,008
02 B2 7,500 0 7,500
O1.2ZR2LMA 7,500
ol Y RWE 1,500,000 1,500
= EPENTE 6,000
gEBll=r= 500,000% 122 6,000
202 o1l 2,040 2,880 840
01 =Uioit] 2,040 2,880 840
SETT-PNp=+-EL
20,0002! +2 %32 * 123 1,440
OoIRI|ZHE elH A0l
20,0002 1% *32 103 600
401 ASHI L2 20,000 0 20,000
01 A&t 20,000 0 20,000
OWEBIIER NEF M7 10,000, 0002 * 144 10,000
OYAE TSP IR AX
10,000, 00024 *144 10,000
405 R&HH S 8,552 0 8,552
01 RALSEFSH] 8,552 0 8,552




SN SRRAA
M X A0 A (22/ 220 2)

chel: ojotara) (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O2RIIE4H &I & HES7L 8,552
S X = A 4,000,000& = 1CH 4,000
S8 My 200, 000& »2JH4 400
-3 2 A Xt 50,000 x5IH 250
-IHHIR 200,000 *2J4 400
QXNZIER MEZ AL 40,000 =64 240
-dH=230] 2,482,000 *1CH 2,482
~&EI1() 70,0003 *4CH 280
—= A 50,000 =104 500
dgEAAMY (BEH/BHYT) 477,840 170,550 307,290
= 126,992
| 10,000
& 136,852
Al 203,996
HALS 109,936 64,053 45,883
& 3,600
Al 106,336
gHaAas XN 97,936 54,053 43,883
101 ol t| 49,231 16,563 32,668
10 JIZtHZ2ZNSES 49,231 16,563 32,668
Ogolas ol 42,408
-2t 36,7103 x6F x180 39,647
-0zt 27,5603 x2H x50 2,756
OYIAS=OIR 2H4A] 2,000 x6H 180 2,160
OYHA=0IE I=h| 110,000& 69X 660
O4UEE J&22Y3 42,403,000 *9.45% 4,008
201 Let3| 3,820 3,600 220
01 AtR2teldl 1,120 900 220
O5. =&l 1,120
—SAAS OF2UZ2 2R 24
7,000 »2H +80 1,120
02 =294l 2,700 2,700 0
O3. A8 IS XYl 2,700




SN S
LR

Shol: g

= 5 — FSIE =
N EH - S2A(3H) - MRAE - BES Off &F K Ofl At ot Hws2
—g AT RXI2 Y 2,700
qee 40,0002 *30CH 1,200
sUe 30,0008 *50CH 1,500
206 Tz 41,052 29,640 11,412
01 Mz 41,052 29,640 11,412
OYALSAE 7 31,800
-228 45 35,0009 *6405 22,400
-~ AET 30,0008 1005 3,000
-RETNE 80,0002 805 6,400
OgHg 2= 9,252
YR 1,50021%20 4 #1802 5,724
28 1,47091%60 £ *403] 3,528
301 LerEAZ 833 850 AT
10 BAMHI24Z 833 850 AT
OSHS ey nSBIIs|ol FAX
=N 7,000 %7 %1770 4 833
405 XtaE S 3,000 3,400 A 400
01 KMUSEFS 3,000 3,400 A 400
OXYE YALSI| 2 1,000,000 *3CH 3,000
MoHCHHl BHaSoHE T (%) 12,000 10,000 2,000
= 3,600
Al 8,400
206 Mz 12,000 10,000 2,000
= 3,600
Al 8,400
01 Mz 12,000 10,000 2,000
OMBN Yl gHrSAE 2 12,000
=28 4= 35,0008 *3005 10,500
< 3,150
Al 7,350
~A 3 6,250% x240 1,500
< 450
Al 1,050




L =REAL
SYEAAIS (BA
 daaad (S5 & 2)
N BT (3H) - MEAIY - B2 Al OH &EIE Ho=2t
cTo=m IO T ° . [= Bl e =5 O:H{ﬂ,% Lsa
dFE 2t 334,104 55,882 278,222
= 126,992
| 7,100
& 131,802
Al 68,210
g2d g 22AE 61,520 44,972 16,548
201 Letd| 3,800 900 2,900
01 At 2eldl 3,800 900 2,900
O1. g2l 2,000
=40 228 ME 2,000& =1,0004 2,000
O2. €=l 1,800
-NEEMEI ARALE A W=
1,400,000 *1H 1,400
-MEEMEIL AStUE S WS
400,000& 15 400
202 O4dl 2,160 2,160 0
01 =Wobl 2,160 2,160 0
Oogdde =& 60,0003 »3H x3 x4 3] 2,160
206 M=l 800 0 800
01 M=l 800 0 800
OJtsd g4 SHZE(HSIITIA)
- 4,000& %200 800
301 YutEa=z 41,260 29,992 11,268
01 ASIB2EE=0H3 37,560 26,292 11,268
OSO0IZ & A M2 ZH|
313,000 10E *12& 37,560
10 SAIAHIEANS 3,700 3,700 0
OFEED DUHRY 322 A
7,000 x50 »23| 700
O8telg (d=2=2) JIIEMSUE
20,0003 *150L 3,000
307 glz2told 12,500 11,500 1,000
01 Az =4| 1,500 1,500 0
OstdE ot 228 7¢
1,500,000& 13| 1,500
02 QUAFASEX 11,000 10,000 1,000
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SN 2REAL
M MAHACAIL(BAH/BHAZ)
chel: Mg (sl &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ot 2| Al (gt=stdl=XE3l)
11,000, 000& *1JH 2~ 11,000
405 RKtaHFESHI 1,000 0 1,000
01 ANAMNLEEFSHI 1,000 0 1,000
OFGAHY A DI J27Y
500, 000& *2CH 1,000
Aoy 2elx L AT WK(EX) 1,440 1,200 240
= 720
Al 720
202 o4l 1,440 1,200 240
= 720
Al 720
01 =ZWodb] 1,440 1,200 240
OXIYAAMIRL REHHI 60,000& 24X 1,440
2 720
Al 720
FRAEAY H224A 9202 XH(EX) 1,560 1,440 120
= 780
& 780
307 QIZ2tol A 1,560 1,440 120
= 780
& 780
02 oIzt AE X 1,560 1,440 120
OFQAYY H2ANIRIIR X2
10,0003 * 13 A+ 12 1,560
= 780
= 780
MEH I OISZAIMA SH(EX) 2,640 2,640 0
| 1,320
= 1,320
307 QIZ2to| A 2,640 2,640 0
J| 1,320
& 1,320
02 QI2ztFAE X 2,640 2,640 0
OMZHI] OISZAIMA 298I
220,000& x 1 A x 12 2,640
J| 1,320
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SA

SA8HA

— T =

M MggaeMg(EA/B2u2g)
el e (9l &2
SA - HE - SR(EH) - NRAY - BES & ol S DS
0f & o
< 1,320
SHAIZIOI L ZAIE 2EXJ(EX) 33,278 0 33,278
= 16,639
S 16,639
307 gI2tol & 33,278 0 33,278
= 16,639
< 16,639
02 fltFateEx 33,278 0 33,278
OftllZtol A Z A d 2RI
33,278,000 * 14 33,278
= 16,639
[ 16,639
SHAIZIOIZZAIE A (H)=E XA (EX) 217,706 0 217,706
= 108,853
S 108,853
402 SI2tt=0ld 217,706 0 217,706
= 108,853
< 108,853
01 BIZtA=Ex 217,706 0 217,706
Otdiol2ZAIE &)= X2
217,706,000& * 14! 217,706
= 108,853
< 108,853
AEHAY YRS (EX) 3,400 3,400 0
= 1,020
Al 2,380
202 OdH 3,400 1,400 2,000
= 1,020
Al 2,380
01 =LHAHI 3,400 1,400 2,000
Ot SHSES XN AE =0
3,400,000 x 14! 3,400
[ 1,020
Al 2,380
olol=2g olgr2el X (Bx) 1,000 1,000 0
= 300
Al 700




SA

SA8HA

— T =

I MAYHAZANL(BH/BHYT)
crel: Feg e (cro): &2l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
202 O4dl 1,000 500 500
& 300
Al 700
01 =LHoitl 1,000 500 500
OMOIZ2E olR2IXIRA =X 04t
1,000, 0003 * 14 1,000
= 300
Al 700
HEEBSAERALHI(EX) 10,560 0 10,560
Il 5,280
= 2,640
Al 2,640
301 YBtEAE 10,560 0 10,560
Il 5,280
& 2,640
Al 2,640
01 ASIE2EHE =63 10,560 0 10,560
OBE Y +X2g ol EEYl
120,000 ~88H 10,560
I 5,280
= 2,640
Al 2,640
HYAE L XIZHI(EX) 1,000 1,000 0
| 500
L= 250
Al 250
307 2IZ2t0lA 1,000 1,000 0
Il 500
= 250
Al 250
01 A=z R2=H| 1,000 1,000 0
OMYAT & XIS 4,000 *250% 1,000
J| 500
& 250
Al 250
HelZ At 33,800 50,615 216,815
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B MyH M ALY (B2 2)

(i ) [ - —

el HelH A CER:E
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Held Ak | 2,900
& 1,450
Al 29,450
ZALAISE X & 28,000 22,395 5,605
207 T 20,000 22,395 A2,395
03 AlE | 20,000 22,395 N2,395
OZalZA Al L 222 ¢
20,000, 000& 20,000
405 XHAHFSHI 8,000 0 8,000
01 T ESEFHSHI 8,000 0 8,000
OWWI| WX < 8,000, 000& = 1CH 8,000
IOl =& Al 2HI(EX) 4,000 4,000 0
J| 2,000
& 1,000
Al 1,000
207 AN 4,000 4,000 0
J| 2,000
& 1,000
Al 1,000
03 AlEH I 4,000 4,000 0
OOl ZECHAIF | 250,0002!* 165 4,000
J| 2,000
== 1,000
Al 1,000
SHYECAIS RAH(EX) 1,800 1,800 0
| 900
= 450
Al 450
207 Ao 1,800 1,800 0
J| 900
= 450
Al 450
03 AlE& 3l 1,800 1,800 0
OMERICHAI QY| 50,0002 +36 5 1,800
| 900
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SN SRRAA
HH: HHSHAY|(SREAL BAYZ D) (JIEHIIEH
Sl JI2YUI(SR BAHI D) (B9 @)
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
02 ZZ2YH| 1,536 1,536 0
O1.Z2Q3LHA 1,536
-2N2Y BB23 1,536,0002 1,536
YR =01t 148,560 137,040 11,520
202 OiHl 148,560 137,040 11,520
01 =0jord 73,440 55,920 17,520
OFQASEXOL 20,0002 179U 122 36,720
OBEZ2o Z2AULEX 0|
20,0008 * 172 +92 * 122 36,720
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